
®

50' Double Door
Plugged Box Car

20-90010-A
20-90014-E
20-90018-A
20-90019-A
20-93025
20-93026
20-93032
20-93033
20-93034
20-93064
20-93065

Rev.  03-10-01



E L E C T R I C T R A I N S

C a r P a r t s
Name and Number Part # $Price Per Unit

1.) Door ( left )( red ) HB-6100054 4.00
( Ralston Purina )( # RPCX 11492 )
( 6 rows of lettering in center of door )
( 1 row of lettering at bottom of door )

1.) Door ( left )( red ) HB-6100055 4.00
( BNSF )( # BNSF 71414 )
( plain door )( w/white blocks at bottom of door )

1.) Door ( left )( red ) HB-6100056 4.00
( N & W )(# N&W 56572 )
( 2 rows of lettering at top of door )

1.) Door ( left )( red ) HB-6100057 4.00
( SP )( #693349 )
( 4 rows of lettering at middle of door )

1.) Door ( left )( red ) HB-6100058 4.00
( UP )( #169461 )
( 1 row of lettering at middle of door )

1.) Door ( left )( red ) HB-6100059 4.00
( PRR )( # PRR 112116 )
( 3 rows of lettering at middle of door )

1.) Door ( left )( blue ) HB-6100060 4.00
( B & M )( # BM 111 )
( 2 rows of lettering at middle of door )

1.) Door ( left )( blue ) HB-6100061 4.00
( CSX )( #CSXT 500762 )( plain door )

1.) Door ( left )( blue ) HB-6100062 4.00
( EVANS PRODUCTS CO )
( #USLX 11156 )( #USLX 11614 )
( 7 rows of white lettering on left edge of door )

1.) Door ( left )( blue ) HB-6100063 4.00
( TROPICANA )( #USLX 13062 )( #USLX 13079 )
( 5 rows of white lettering on left edge of door )

1.) Door ( left )( green ) HB-6100064 4.00
( BN )( # BN 376513 )
( 1 row of white lettering at bottom of door )

2.) Door ( right )( red ) HB-6100065 4.00
( Ralston Purina )( # RPCX 11492 )
( 4 rows of lettering in center of door )
( 1 row of lettering at bottom of door
( w/ bulkhead symbol )

2.) Door ( right )( red ) HB-6100066 4.00
( BNSF )( # BNSF 71414 )
( 3 rows of lettering at top of door )
( w/ white blocks at bottom of door ) 
( w/ bulkhead symbol ) 

2.) Door ( right )( red ) HB-6100067 4.00
( N & W )( N&W 56572 )
( 3 rows of lettering at top of door )
( w/ bulkhead symbol ) 

2.) Door ( right )( red ) HB-6100068 4.00
 ( SP )( #  693349 )( w/  bulkhead symbol )

2.) Door (right )( red ) HB-6100069 4.00
( UP )( #169461 )( 1 row white lettering )

2.) Door ( right )( red ) HB-6100070 4.00
( PRR )( # PRR 112116 )
( 1 row of lettering at top of door )
( w/  bulkhead symbol )

2.) Door ( right )( blue ) HB-6100071 4.00
( B & M )( # BM 111 )
( 4 rows of lettering in center of door )
( w/  bulkhead symbol )

Name and Number Part # $Price Per Unit

2.) Door ( right )( blue ) HB-6100072 4.00
( CSX )( #CSXT 500762 )
( 3 rows of lettering in center of door )
( w/  bulkhead symbol )

2.) Door ( right )( blue ) HB-6100073 4.00
( EVANS PRODUCTS CO ) 
( #USLX 11156 )( #USLX 11614 )
( 7 rows of white lettering on right side of door )

2.) Door ( right )( blue ) HB-6100074 4.00
( TROPICANA )( #USLX 13062 )( #USLX 13079 )  
( 5 rows of white lettering on right edge of door )
( w/ bulkhead symbol )

2.) Door ( right )( green ) HB-6100075 4.00
( BN )( # BN 376513 )
( 3 rows of lettering at  top of door )
( 1 row of lettering at  bottom of door )

3.) Door guide ( top )( red ) HB-6100076 2.00
( Ralston Purina )( # RPCX 11492 )
( 202.0mm long )

3.) Door guide ( top )( red ) HB-6100077 2.00
( BNSF )( # BNSF 71414 )
( 202.0mm long )

3.) Door guide ( top )( red ) HB-6100078 2.00
( N & W )( N&W 56572 )( SP )( #  693349 )
( UP )( #169461 )( PRR )( # PRR 112116 )
( 202.0mm long )

3.) Door guide ( top )(blue ) HB-6100079 2.00
( B & M )( # BM 111 )
( 202.0mm long )

3.) Door guide ( top )( blue ) HB-6100080 2.00
( CSX )( #CSXT 500762 )
( 202.0mm long )

3.) Door guide ( top ) HB-6100081 2.00
( blue & white )
( EVANS PRODUCTS CO. ) 
( #USLX 11156 )( #USLX 11614 )
( 202.0mm long )

3.) Door guide ( top )(blue ) HB-6100082 2.00
( TROPICANA )( #USLX 13062 )( #USLX 13079 )
( 202.0mm long )

3.) Door guide ( top )( green ) HB-6100083 2.00
( BN )( # BN 376513 )
( 202.0mm long )

4.) Door guide ( bottom )( red ) HB-6100084 2.00
( Ralston Purina )( # RPCX 11492 )
( 202.0mm long )

4.) Door guide ( bottom )( red ) HB-6100085 2.00
( BNSF )( # BNSF 71414 )
( 202.0mm long )

4.) Door guide ( bottom )( red ) HB-6100086 2.00
( N & W )( N&W 56572 )( SP )( #  693349 )
( UP )( #169461 )( PRR )( # PRR 112116 )
( 202.0mm long )

4.) Door guide ( bottom )( blue )HB-6100087 2.00
( B & M )( # BM 111 )
( 202.0mm long )

                           *Requires Exchange 
                     All parts are priced as each

                      

50' Double Door Plugged Box Car

www.mthtrains.com/part/HB-6100054
www.mthtrains.com/part/HB-6100055
www.mthtrains.com/part/HB-6100056
www.mthtrains.com/part/HB-6100057
www.mthtrains.com/part/HB-6100058
www.mthtrains.com/part/HB-6100059
www.mthtrains.com/part/HB-6100060
www.mthtrains.com/part/HB-6100061
www.mthtrains.com/part/HB-6100062
www.mthtrains.com/part/HB-6100063
www.mthtrains.com/part/HB-6100064
www.mthtrains.com/part/HB-6100065
www.mthtrains.com/part/HB-6100066
www.mthtrains.com/part/HB-6100067
www.mthtrains.com/part/HB-6100068
www.mthtrains.com/part/HB-6100069
www.mthtrains.com/part/HB-6100070
www.mthtrains.com/part/HB-6100071
www.mthtrains.com/part/HB-6100072
www.mthtrains.com/part/HB-6100073
www.mthtrains.com/part/HB-6100074
www.mthtrains.com/part/HB-6100075
www.mthtrains.com/part/HB-6100076
www.mthtrains.com/part/HB-6100077
www.mthtrains.com/part/HB-6100078
www.mthtrains.com/part/HB-6100079
www.mthtrains.com/part/HB-6100080
www.mthtrains.com/part/HB-6100081
www.mthtrains.com/part/HB-6100082
www.mthtrains.com/part/HB-6100083
www.mthtrains.com/part/HB-6100084
www.mthtrains.com/part/HB-6100085
www.mthtrains.com/part/HB-6100086
www.mthtrains.com/part/HB-6100087


E L E C T R I C T R A I N S

C a r P a r t s
Name and Number Part # $Price Per Unit

4.) Door guide ( bottom )( blue )HB-6100088 2.00
( CSX )( #CSXT 500762 )( 202.0mm long )

4.) Door guide ( bottom )( blue )HB-6100089 2.00
( EVANS PRODUCTS CO )( #USLX 11156 ) 
( #USLX 11614 )( 202.0mm long )

4.) Door guide ( bottom )( blue )HB-6100090 2.00
( TROPICANA )( #USLX 13062 )( #USLX 13079 ) 
( 202.0mm long )

4.) Door guide (bottom)(green) HB-6100091 2.00
 ( BN )( # BN 376513 )( 202.0mm long )

5.) Ladder (side)(red)(4 rung) HB-6100092 3.00
( w/ shoulders on mounting pins )
( Ralston Purina )( # RPCX 11492 )

5.) Ladder ( side )( red )(4 rung) HB-6100093 3.00
( BNSF )( # BNSF 71414 )

5.) Ladder (side)(red)(4 rung) HB-6100094 3.00
( N & W )( N&W 56572 )( UP )( #169461 )
( SP )( #  693349 )( PRR )( # PRR 112116 )

5.) Ladder (side)(blue)(4 rung) HB-6100095 3.00
B & M ( # BM 111 )

5.) Ladder (side)(blue)(4 rung) HB-6100096 3.00
CSX ( #CSXT 500762 )

5.) Ladder (side)(blue)(4 rung) HB-6100097 3.00
( EVANS PRODUCTS CO )
( #USLX 11156 )( #USLX 11614 )

5.) Ladder (side)(blue)(4 rung) HB-6100098 3.00
TROPICANA ( #USLX 13062 )( #USLX 13079 )

5.) Ladder (side)(green)(4 rung) HB-6100099 3.00
( BN )( # BN 376513 )

6.) Shell ( red ) HB-6100100 *25.00
( Ralston Purina )( # RPCX 11492 )

6.) Shell ( red ) HB-6100101 *25.00
( BNSF )( # BNSF 71414 )

6.) Shell ( red ) HB-6100102 *25.00
( N & W )( N&W 56572 )( SP )( #  693349 )
( UP )( #169461 )( PRR )( # PRR 112116 )

6.) Shell ( blue ) HB-6100103 *25.00
( B & M )( # BM 111 )

6.) Shell ( blue ) HB-6100104 *25.00
( CSX )( #CSXT 500762 )

6.) Shell ( blue ) HB-6100105 *25.00
( EVANS PRODUCTS CO )( #USLX 1115 )
( #USLX 1161 ) 

6.) Shell ( blue ) HB-6100106 *25.00
( TROPICANA )( #USLX 1306 )
( #USLX 13079 )

6.) Shell ( green ) HB-6100107 *25.00
( BN )( # BN 376513 )

7.) Screw IA-0000021 0.15
8.) Ladder (end)(red)(4 rung) HB-6100108 2.00

( w/ mounting pins )
( Ralston Purina )( # RPCX 11492 )

8.) Ladder (end)(red)(4 rung) HB-6100109 2.00
( BNSF )( # BNSF 71414 )

8.) Ladder (end)(red)(4 rung) HB-6100110 2.00
( N & W )( # N&W 56572 )( UP )( #169461 )
( SP )( #  693349 )( PRR )( # PRR 112116 )

8.) Ladder (end)(blue)(4 rung) HB-6100111 2.00
B & M ( # BM 111 )

8.) Ladder (end)(blue)(4 rung) HB-6100112 2.00
( CSX )( #CSXT 500762 )

Name and Number Part # $Price Per Unit

8.) Ladder (end)(blue)(4 rung) HB-6100113 2.00
( EVANS PRODUCTS CO ) 
( #USLX 11156 )( #USLX 11614 )

8.) Ladder (end)(blue)(4 rung) HB-6100114 2.00
( TROPICANA )( #USLX 13062 )
( #USLX 13079 )

8.) Ladder (end)(green)(4 rung) HB-6100115 2.00
( BN )( # BN 376513 )

9.) Brake wheel HE-4100033 1.00
10.) End platform ( red ) HB-6100116    .00  

( Ralston Purina )( # RPCX 11492 )
( 34.0x5.2mm )( open grating )

10.) End platform ( red ) HB-6100117 2.00
( BNSF )( # BNSF 71414 )( 34.0x5.2mm )

10.) End platform ( red ) HB-6100118 2.00
( N & W )( N&W 56572 )( UP )( #169461 )
( SP )( #  693349 )( PRR ) # PRR 112116 )
( 34.0x5.2mm )

10.) End platform ( blue ) HB-6100119 2.00
( B & M )( # BM 111 )( 34.0x5.2mm )

10.) End platform ( blue ) HB-6100120 2.00 
( CSX )( #CSXT 500762 )( 34.0x5.2mm )

10.) End platform ( blue ) HB-6100121 2.00 
( EVANS PRODUCTS CO )
( #USLX 11156 )( #USLX 11614 )
( 34.0x5.2mm )

10.) End platform ( blue ) HB-6100122 2.00
( TROPICANA )( #USLX 13062 )( #USLX 13079 )
( 34.0x5.2mm )

10.) End platform ( green ) HB-6100123 2.00
( BN )( # BN 376513 )( 34.0x5.2mm )

11.) Chassis ( black ) HB-6100124 *12.00
( 320.0x57.0mm )

12.) Screw ( 4/40x4.0mm ) IA-0000021 0.15
13.) Screw ( 6/32x8.0mm ) IA-0000050 0.15
14.) Screw ( M2x4.0mm ) IA-0000007 0.15

( washer head )
15.) Screw ( M3x5.0mm ) IA-0000216 0.15

( washer head )
16) Screw ( M2.5x6.0mm ) IA-0000178 0.15

( flathead )
17.) Coupler DD-0000015 3.00

( 41.5mm long )( mechanical )
18.) Spring ( centering ) IE-0000036 0.50
19.) Armature DD-0000014 1.00

( 36.3mm long )( w/ new armature pin )
20.) Washer ( clear ) ID-0000065 0.15

( 5.0x10.0x0.3mm )
21.) Spring ( nickel ) IE-0000035 0.50

( 6.0x8.0mm )( w/ 0.4mm thick wire )
22.) Screw IA-0000268 0.15

( M3x5.0mm )( w/ 8.0mm washer head )
23.) Spring ( nickel ) IE-0000033 0.25

( truck side )( 2.5x5.0x0.2mm )
24.) Undercarriage detail HB-6100125 8.00                    

( black )( 55.0x215.0mm )
25.) Truck ( black )( 2 axle ) DA-0100006 5.00
26.) Washer ( 6.0x10.0x0.7mm ) ID-0000061 0.15

 

                           *Requires Exchange 
                     All parts are priced as each

          2

                    

50' Double Door Plugged Box Car

www.mthtrains.com/part/HB-6100088
www.mthtrains.com/part/HB-6100089
www.mthtrains.com/part/HB-6100090
www.mthtrains.com/part/HB-6100091
www.mthtrains.com/part/HB-6100092
www.mthtrains.com/part/HB-6100093
www.mthtrains.com/part/HB-6100094
www.mthtrains.com/part/HB-6100095
www.mthtrains.com/part/HB-6100095
www.mthtrains.com/part/HB-6100097
www.mthtrains.com/part/HB-6100098
www.mthtrains.com/part/HB-6100099
www.mthtrains.com/part/HB-6100100
www.mthtrains.com/part/HB-6100101
www.mthtrains.com/part/HB-6100101
www.mthtrains.com/part/HB-6100103
www.mthtrains.com/part/HB-6100104
www.mthtrains.com/part/HB-6100105
www.mthtrains.com/part/HB-6100106
www.mthtrains.com/part/HB-6100107
www.mthtrains.com/part/IA-0000021
www.mthtrains.com/part/HB-6100108
www.mthtrains.com/part/HB-6100109
www.mthtrains.com/part/HB-6100110
www.mthtrains.com/part/HB-6100111
www.mthtrains.com/part/HB-6100112
www.mthtrains.com/part/HB-6100113
www.mthtrains.com/part/HB-6100114
www.mthtrains.com/part/HB-6100115
www.mthtrains.com/part/HE-4100033
www.mthtrains.com/part/HB-6100116
www.mthtrains.com/part/HB-6100117
www.mthtrains.com/part/HB-6100118
www.mthtrains.com/part/HB-6100119
www.mthtrains.com/part/HB-6100120
www.mthtrains.com/part/HB-6100121
www.mthtrains.com/part/HB-6100122
www.mthtrains.com/part/HB-6100123
www.mthtrains.com/part/HB-6100124
www.mthtrains.com/part/IA-0000021
www.mthtrains.com/part/IA-0000050
www.mthtrains.com/part/IA-0000007
www.mthtrains.com/part/IA-0000216
www.mthtrains.com/part/IA-0000178
www.mthtrains.com/part/DD-0000015
www.mthtrains.com/part/IE-0000036
www.mthtrains.com/part/IE-0000036
www.mthtrains.com/part/ID-0000065
www.mthtrains.com/part/IE-0000035
www.mthtrains.com/part/IA-0000268
www.mthtrains.com/part/IE-0000033
www.mthtrains.com/part/HB-6100125
www.mthtrains.com/part/DA-0100006
www.mthtrains.com/part/ID-0000061


22

21

20

19

18

17

14
15

15

26

26

25

24

11

4

3

1

2

5
10

9

6

5

5

10

13

5

4

3

1

2

23

16

12

8

8

13

7

7

E L E C T R I C T R A I N S

50' Double Door Plugged Box Car


	Page 1
	Page 2
	Page 3
	Page 4

